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7 Julius Buchwald, Probleemblad 1970 
 

 

 

Set play: 1...Bxd4 2.Sc3# 1...Rxd4 2.Bf3#  

1.Rf3 ! (5 points) [2.Qxd7#]  

1...Bxd4 2.Bc4# 1...Scxd4 2.Se3# 1...Sbxd4 2.Bc4#  

1...Rxd4 2.Rf5# 1...Kxd4 2.Rd3# 1...Sc5 2.Qxc5# 1...fxg5 2.Qe5# 1...d6 2.Qc4# 

 

 

 

 #2                      (11+11)  

8 Alexander Pituk (v), 2nd HM Pravda 1990-91 (v) 

 

 

1.Sd7 ! [2.Sd6 + (1 point) cxd6 3.Sxb6#]  

1...Bf8 2.Bxe3 (1.5 points) [3.Bd5#] 2...f3 3.Qxg4# 2...c6 3.Sxb6#  

1...Qa7 2.Bxb6 (1.5 points) [3.Bd5#] 2...f3 3.Sxe3# 2...c6 3.Sd6#  

1...Bxd7 2.Qxf7 + (1 point) Be6 3.Qxe6# 

 

#3                       (11+15)  

9 Marcel Tribowski, 3rd HM Schach-Aktiv 2005 

 

 

1.Rg2 ! [2.Sc3 + Kd2 3.Rg1 ~ 4.Sc~ + (1 point) Kd1 5.Bd3#]  

1...Be3 2.Sg1 + Kd4 3.fxe3 + Kxe3 4.Re2 + (1 point) Kd4,Kd3 5.Re4#   

1...e5 2.Sg3 + Kd4 3.Se4 [4.Bc3#] Bd2 4.Sxd6 (1 point) [5.Sb5#] 4...Ba6 5.Sf5#  

1...exd5 2.Sexf4 + Kd4 3.Sxd5 [4.Bc3#] 3...Bd2 4.Sc7 (1 point) [5.Sb5#] 4...Ba6 5.Se6#  

1...Kxc4 2.Sc3 + ! Kd4 3.Sb5 + Kxd5  4.Se7 + (1 point) Ke5 5.Bc3 # 

                                                                   

   

  
#5            (11+13)  

10 David Gurgenidze, Concours Moscovite 1988 

 

 

 

1.Kf3 (1 point) c1=Q 2.Bxc1 Be4+ (1 point) 3.Kxe4 g2 4.Bg5+ (1 point) 

(4.Nf2? g1=Q 5.Nd3 Qg6+ 6.Kd4 Qg4+ 7.Bf4 Qd7+)  

4...Kxg5 5.Nf2 Kh4 6.Kf3 (6.Nc5? Kg3)  

6...g1=Q 7.Nc5 (1 point) Qg3+ 8.Ke2 Qe5+ 9.Nce4 (1 point) = 

=               (4+5) 

 

 

11 Dieter Mueller & Rolf Wiehagen, 3rd HM V. Barsukov 60 JT 1999-2000 

 

 

1.Ke5 Sb6 2.d4 Sxc8 3.Kd5 Rxh6 4.Be5 Sb6# (2.5 points) 

 

1.Re5 Rh8 2.Kc4 Rxc8 3.Kb5 Rb8 + 4.Kc6 Rb6# (2.5 points) 

 

 

 

H#4       2 sol.      (3+15)  

12 Peter Sickinger & Manfred Zucker (v PE), 1st HM Sredba na Solidarnista 1986-89 

 

 

1.Bb4 ! [2.Qe8 ~ 3.Qe3 + (2 points) Sxe3#]  

1...Re1 2.Sc6 + Ke4 3.Sxf2 + (1 point) Sxf2#  

1...f6,f5 2.Sb3 + Bxb3 3.Bc3 + (1 point) Sxc3#   

1...Bh7 2.Qd3 + Bxd3 3.e3 + (1 point) Sxe3# 

S#3                    (10+10)  

                          


